
1 2

Instrukcja montazu
Assembly instruction

3

M10 x 45

M10 x 80

M10 x 20

M10 x 20

Nakretka samokontrujaca M10 
Self Locking Nut M10

M10 x 45

M10 x 20

Nakretka samokontrujaca M10 
Self Locking Nut M10

4


